CornacosaHo

Rvpektop

Ha 14 sHeaps 2025;.

MeHio
[eHb: BTOpHUK
Heaens: nepsas
Ce3oH:
BospacrtHas rpynna: 12 net u craplie
3aBTpak
Ne [Haumerosarme . L?y.ic Liewa, Muwiessble B-8a, r X ;:i%: : ButamuHbl, Mr = MwuHeparnbHbie B-8a, Mr =
peul6nioga P i P|Benku| >Kupbi|Yrnesoaw wan. | B1 B2 c| A]l E (Mir) Ca P| Mg| Fe K|I(mxr) (MK; F|
724 ﬁiﬁ"xfu 200.0011.83) 3.97 | 3.42 | 26.08 | 143.00 |0.04/0.161.30/0.02[0.01|0.05]125.12|116.20]31.00]0.98]206.36] 0.00 | 2.00 0.03
569 nguu”bm 40.00 | 4.80 | 3.04 | 0.32 19.44 95.20 ]0.04/0.01}0.000.00/0.04/0.00] 8.00 26.00 | 5.60 |0.44| 0.00 |1.28|2.40 |0.00|
Byrep6poa ¢ ’
860|macnom 55.00 |18.51| 3.43 | 9.43 21.47 187.00 ]0.05{0.03/0.00]0.04]0.15]0.17] 11.44 31.90 [ 6.16 [0.51| 1.65 | 1.41]2.75]0.00
CNUBOYHBIM
Kalua pucosas : )
201|(es3kas) Ha 260.00 |25.92| 7.65 | 10.82 48.42 319.66 [0.07]0.18]1.61}0.06/0.31|0.19|153.93]196.56 45.02]0.70}225.7611.96/11.05]0.02)
Moroke
6i20( O6en
Ne |Haumenosanme b LE;C Lesa, Muwyessbie B-8a, r L ;:i,:]: . ButamuHbl, mr - MuHepanbHbie B-Ba, Mr —
pewGnioga r P|BenkuPKupei|Yrnesoaei KKan, B1| B2 Cl Al E (mir) Ca P] Mg| Fe K (akr)|(mkcr) Fi
Tedprenu .
614|pybneHsie ¢ 110.00 |32.45]| 6.16 | 7.90 7.37 118.67 [0.02]0.01| 1.36 |0.03|1.42|0.03]|21.05 53.291 10.69 |0.79] 18.55 |1.16]0.20/0.00
coycom
851|Xne6 Uusunbhbiii| 40.00 | 3.12 | 2.72 0.52 16.28 98.00 ]0.02/0.00] 0.00 [0.00{0.00{0.00] 4.20 18.96] 5.64 |0.47| 0.00 |0.00{0.00]0.00]
25 E:::LP:J 100.0019.90 1 1.34 |10.11] 6.86 | 124.34 0.050.0412.95[0.22}4.54|0.00|25.65] 41.08 | 18.53 [0.77]111.15)3.05 |0.27 0.00
Bopuy ¢ kanycroii
703]c kapTocbeniem co | 255.00 |15.16| 5.76 8.99 16.02 144.58 [0.05[0.05/12.35[0.27]2.50/0.00}45.01 58.06 | 28.33 [1.24/194.00|5.87|0.51]0.01
CMEeTaHo
704 g:c“;imea::im 210.00]13.56)12.25| 9.13 | 60.12 | 377.91 0.3000.16] 0.00 [0.03]0.86{0.11[21.07[290.40|193.45]6. 50[576.16]3.26|5.70/0.02
Komnot u3 cmecu
730 CcyxochpyKTOB 200.00 | 5.63 | 0.57 | 0.00 | 32.21 126.05 10.00]0.00] 0.00 |0.00}0.00{0.00] 0.00 0.00 | 0.00 j0.00] 0.00 [0.00]0.00]0.00]

AvpexTop: MonbiwHukosa C.B. —16 7’5)\/ g
2

Mosap:




